kuwaé,
PO f, e sciagad!

e

4. Rozwigzywanie rownan logarytmicznych

Ramka 1.

log, x +log,(x —2) =2

x €(2,0)

log x +log,(x —2) =2 ———— > log,[x(x—2)] =2

log;[x(x —2)]=2
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log,b=c <a=h

x(x—2)=14

x?—2x=4

x2—-2x—-4=0

A= b? — dac

A=4—-4-1(-4)=4+16 =20

—b—/2
x =
1 2a
—b+4/A
X, =
2a
2—4/20
Xy =

V20 =V4.-5 =45 =25

=2—2~"§=2(1—~{§]=Q_(1_\G)= 1—+/5

*1 2 2 2
24245 2(1445) %(1 +\fr§) _
=== 0 =1++5

x €(2,00)

x=1++/5
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Ramka 2.

log;(4 —x) —logzx = 2
4—x=0
x>0
x> —4/(=1)
{x<4
x>0

x €(0,4)

log;(4 —x) —logzx = 2 » log; ==z
d—x

1083 TIZ

log,b=c <a°=5b
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—x—9xy = -4

—10x = —4
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